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3. A financial services company is building a logistic regression model to
predict whether a customer is likely to default on a loan (outcome: y=.l,
default, y=0, no default) based on the following features: Income (X1, 1N
thousands of %), Credit Score (x2), and Number of Dependents (x3). The
coefficients of a trained model are given as Wo = 1.0,w =
[—0.02,0.03,—0.1]". The company uses a threshold of P(y = 1) = 0.5 to
o classify customers as default or not.

[a] Consider a customer with Income = 50,000, Credit Score =l@: and
Number of Dependents = 2. Will this customer be classified as likely to
default or not? 2 J21[CO4]
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A logistic regression (LR) model is used to predict whether a student
will pass an exam (Pass = 1) or fail (Pass = 0) based on two features:
Hours Studied (Xi) and Number of Practice Tests Taken (Xz). The
coefficients of trained LR model are: wo = —4, w1 = 0.6, wa=0.8. For
a student who studied for 10 hours and took 5 practice tests, determine
whether the student will pass or fail based on the probability P(Pass =
1) and a decision threshold of 0.5. What would the classification be if
the decision threshold is increased to 0.77 [4] [CO3, CO4|
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